64b-1tlc-eth-12xcbase 1.5 0.1 5.8 0.0 -279.6 o7/
64b-1tlc-eth-12bdbase NT 1.4 £ 0.2 4.6 £ 0.0 -229.2 + 46.8
64b-1tlc-ethip4-ip4ba NT 1.4 £ 0.1 4.6 £ 0.0 -226.5 + 23.8
64b-1tlc-dotlqg-12bdba NT 1.6 £ 0.4 3.4 £+ 0.1 -108.7 * 58.8
78b-1tlc-ethip6srhip6 NT 4.0 £ 0.0 4.4 £ 0.0 +10.6 = 1.0
78b-1tlc-ethip6srhip6 NT 3.8 £ 0.0 4.1 £ 0.0 +7.9 £ 0.7
78b-1tlc-ethip6srhip6 NT 3.7 £ 0.0 4.0 £ 0.0 +7.6 = 0.5
64b-1tlc-ethip4vxlan- NT 7.0 £ 0.0 7.3 £ 0.0 +3.7 £ 0.6
64b-1tlc-ethipd4vxlan- NT 8.6 = 0.1 8.9 + 0.0 +3.4 £ 0.8
64b-1tlc-eth-12bdscal NT 6.8 £ 0.1 7.0 £ 0.1 +3.2 £ 2.5
78b-1tlc-ethip6srhip6 NT 6.1 £ 0.1 6.2 £+ 0.0 +1.9 £ 1.8
64b-1tlc-eth-12patch 22.0 £ 0.0 21.7 £ 0.0 22.0 £ 0.1 +1.5 = 0.6


https://plot.ly/

